SNC 2DI
The Coriolis Effect and Prevailing Wind Patterns
*How does wind form?

*In Canada in which direction does the sunrise and the sunset?

These 2 concepts come together to explain the Coriolis Effect:

*The earth’s rotation causes anything that moves long distances such as prevailing winds to appear to change direction.  The change of direction of a moving object in a rotating system is called the Coriolis Effect.





The earth rotates in a clockwise direction.  Therefore from the 



top view, ie the North Pole the earth appears to rotate counter-



clockwise.  From the south pole the earth appears to rotate




clockwise.
Pretend to cut the earth in half from the equator and flatten it out.  What you would have is 2 circles.  The first circle represents the Top view, ie the North Pole and spins counter clockwise direction.  With a partner attempt to draw a straight line from the right side of the circle to the left side, while your partner turns the page according to the arrow shown, counter clockwise.  What happens? What direction did our line go?



Repeat the same activity as above, but this time you will complete it using the circle representing the South Pole.  The rotation will be different, it will be clockwise.  Remember, draw the line from the right side of the circle to the left side and turn the page at the same time in the direction shown below.  What happens to the line this time?



The change in the direction of the line is due to the Coriolis Effect.  The Coriolis effect has a huge impact on the direction of winds and wind patterns.

In the Northern Hemisphere, objects appear to be moving towards the __________
In the Southern Hemisphere, objects appear to be moving towards the __________
The Coriolis Effect is noticed least at the _________________________

Prevailing winds are winds that occur at ____ altitudes and Jet stream winds are winds that occur at _____ altitudes.

Remember: 

-Wind is measured in km/h or miles/h and  is measured with respect to the direction it is coming from, ie a Northerly wind blows from the North to the South, a Southwesterly wind blows from the Southwest towards the North east
The Jet Stream

-The Jet stream is made up of fast moving air with speeds between 100 – 300 km/h.  Jet streams can be 1000’s of km long but only a few km’s wide that meanders around the Earth.

-The jet stream is located at the top of the ________________, formed by the contact between cold and warm air.

-The combination of convection currents and the coriolis effect intensifies the speed of air.

-The northern polar jetstream is the most important because it is used by commercial airlines to travel around the world... Saves on fuel!!!

-To the north of a jet stream tends to be cooler air and to the South of a jet stream tends to be warmer air.  Air currents including the jet stream shift with the seasons, therefore...




 





